
Christmas Bonus 

 

John Rich, Winchester’s wealthiest citizen, has given five of his household employees a cash 

Christmas bonus.  From the clues below, can you determine each employee’s job and the 

amount received? 

 

1. Guess received twice the amount that the butler received. 

2. The cook was given $500 more than Ellis and $1,500 more than Harris. 

3. Ellis received half the amount that the secretary received. 

4. Childs’ gift was twice that which Franks received. 

5. The gardener received more than the chauffeur – who did not receive the least – and 

$1,500 more than the maid. 

6. Franks was given one-third what the cook was given. 

 

The chart below is for your convenience in solving the logic problem.  Enter information 

obtained from the clues, using an X to indicate a definite “NO” and an O to indicate a 

“YES”. 

 

 


